
 

Children begin Key Stage 2 by changing from counting backwards to find 

small differences, to counting on.  This prepares them for the larger 

numbers they will encounter. 

 

The process begins by children being able to 

‘spot’ the next multiple of 10. 

E.g. Knowing that the next multiple of 10 

after 73 is 80.  Some children may need to 

use a number square to help see this initially. 

 

Next they show this ‘jump’ on a number line 

 

73 80 

 

 

This step then prepares them for finding the gap between two numbers 

using a number line. 

 

When crossing a multiple of 10, children should make one jump to the 

multiple of 10 and one from it to the end number. 

E.g.    84 – 73 

    +7   +4 

  73    80   84 

 

 

Children then add together the two jumps to get the answer … 

 

    7 + 4 = 11       so  

 

    84 – 73 = 11 

 

 

 

 

 

 

Should always put 

the smallest number 

at the start, so they 

can ‘jump’ to the 

larger number. 



This method is used for larger numbers, including HTU 

E.g. 628 – 235 = 

   65    328 

   

  235  300      628 

 

Only two jumps should be made.  One to the next hundred and one to the 

largest number.  This makes it easier for the children to add the jumps 

together. 

 

   328 + 65 =393 

   

   628 – 235 = 393 

 

Once children are working with decimals, the first jump should be to the 

next whole number, then to the end number. 

 

E.g.  6.28 - 2.35 =  

 

                              0.65   3.28 

  2.35  3.00    6.28 

 

 

3 .  2  8 

0 .  6  5 + 

3 9  3 

 

Only then will more able children in Year 5 and 6 learn how to use the 

standard written method … 

                             5       

6 .  2  8 

1 .  3  5  - 

4 9  3 

 

 

 

 

  


